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Question 3

OLS multiple regression output from Excel is presented in the table below. The estimated regression equation is:




[image: ]

The multiple regression output suggests that all three predictors (gender, age, and last year's cost) are statistically significant predictors of next year's cost. Interpretation of partial slope coefficients is as follows:
Male: The average next year's cost for males is $9,881.81 higher than the average for females.
Over 65 Years: The average next year's cost for individuals who are over 65 years of age is $11,644.76 higher than the average for individuals who are 65 years or younger.
[bookmark: _GoBack]High Cost user: The average next year's for high cost users is $12,625.34 higher than the average for other users.
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'SUMMARY OUTPUT

Regression Statistics

Multiple R 0.9168
Rsquare 0.8405
Adjusted R Square 08240
Standard Error 4027.3285
Observations 33
ANOVA
df S5 s F Significance F

Regression 3 2478357741.99 826119247.33 5093 0.000
Residual 2 47036187392 16219374.96
Total 32 2948719615.91

Coefficients _Standard Error___tstat P-value _Lower95% _ Upper 95%
Intercept -6420.00 1646.56 -2.90 0.00 978759 -3052.41
Male 988181 1489.85 6.63 0.00 6834.72 12928.90
Over 65 Years 11604.76 145758 7.99 0.00 8663.68 14625.8

High Cost User 12625.34 1418.65 890 0.00 om3ss 1552679





